g 2R FAEEAE (2005 % - 2016%)

Q) mu, tmu =MV, MY, e L%
mv +M©@ =mV, + MV, /L\, u(—‘f;—)’
mvV o o= mv, +MV, Q'\‘- = 4 o4
mV o oomV, + Em \/0\/ 3> D
e ¥ =%, ;QS\) _@ ,
s A AR, Tk ® ¢ =
—mV = = jMv,>
| ia%’ LA~ S S LG B Tl 7 S O %
PR A RAANE AN C) )
‘_&Qd,?‘\/JrgV)sv/‘,%ﬁA : /, mufmq;&omv ‘tM,V;,
&‘% ‘V-!-]GVV %LFV{. V 'l‘lfV “WDX!O‘(‘@%)% = 2V, t ¥V
v £
VY, - 'vaamx"& = (-\}\& 168 = 12Va 18 (14 %)
| 6V, = - 56V, 8 N 68 = 12Vh 4T 19V
AR 20V, - 160 )
‘r n‘_wi = \/ r\ | )
‘ \%}L o0 o » A 4
Smv- S my, ) VA A(\ng/ » 9 &
) > ) >
v oY v B)
| Lot gyT %,
N T Y
Qvg\)‘ (v, t8V) 1 ]
= 3\/, 6\'?\ )ﬂ @ my, 2 ; 2 (m -Hn %
. Tt | s B barie (o s Y.
i | (‘}(j@,’v&t > §.02 X quxxo (ooaﬂr%) 66
" e, DA N I RO
X Nusw ) K L s ®”
—— . & =
%} e 0.34S A : —mv (V\ mqk\%
A :/fg”\” u“@%)v "£0.02t $4%)4.7x0, |
At ,
| B ﬁ @V‘ h.q
@ #ierEs, 24t iz ¥ i ad - o v -k
A et
&© 0.00U4 = SxLY
®¥ O = ml\/l 1 M:VJ- ‘{'\ﬁ(\ W = 350 ms "'%
| 0 ==V, 4V, o
|
| ’;__m\vta 3 |XV|1
| L i Ly V




D@ g = 5HW Rt E, AR BREA -1, L ARMH
qyxk= zu A4 4 SNEHRA L AGFEAE fi
S s & QMMWWWM A 823 AAI#Y 7
)% mHsnBalakaintE, A RE
mu, tmsu, = mam)V OND| 2 s AT, LA s A, iR AR
xess+x0 = a0V LY | 2 mgsgznd s A= 16 0 (A7 KA
w5 B R AVE))
\ﬁfﬂwsm* A
) @;2,\, 1) - G |6)  mu tmy = )Y
G) he 5 502t 0 - (3Ha)V
Mg SELRHRA 5/{_\? 2, sf hgeg“v =
A_ )%/. \\))/ N 6\/ = 0F2ms )1‘
2 R (%
! 21 J’l/@&{fﬂ/) (c)\ mAu Mo, = my, 4 MB)\
21 \A (?‘S\ W ax3 v2x0 - 2 Vs ’r&"(&\
\%%f‘ﬁ moO‘\% (€ =2%
() P2&s$A 8B RAACS % 1V N2
2 g, © 0 L
_x_:%{_ «qu,g (7 %@A’W\l"—mn Y 1
—-Q@?:l/\l x. Q: x 3% - _-xn,gv : szx Vb
NN Y T A
S rhu” 'mth—-»@”&\*’ 0, A = (- V)t Y, a .
ST 77 0% ) D S IR T
Vs 2 Ol 7 0 s 2V 28V KO
| &Y o - Vel 3. (T
 QrefdktAA Vs: 0 (FH#%) B Vg:3ms”
e - g Ol ya N < A\
| '79?;’ —1x48 - (& ‘%\%'0 ’3rq~é(\o b V4 =Oms” A
= (6L My (\%
| @% k344
D) IRE FAREE, S L AL Mot U s (mte) Y
ARA AT BAE FEa £ B AR 3R Gx€ + SX ¥ eshS = (¥45)V
BA%E 45 BRETILLE ] ﬁlé“ V.o 5.,
F AR gk MEB At [ AFRA




L44k

Euss 237.0% {4 ) B
oy, t MY, - (mAm IV,
TXO + SX Tain S« (g1 S)V @Q‘f'ﬂif}l\ﬂ,fﬁ’?’@ & 1ER A dh A A
V s 2036w Q‘\ L 4T nRnk kD LARAR
Fa¥ fb/ 3 F« =T F>
A ERSR RN (LY e el Ko i
= g;gm j&( o ;n,v! -m U s’mzv,i-m,d,‘
E ~ N muotmu, = My, 4 mVs p 4
L) 467 e w26 |
PR N 4 st (b) O AHAAEIES, 2 718 425 7L H
Anyy N esowa |iE, T -
N p A uw%# 418t AL B TS,
) T~ NA S T 72T
i U v\‘ ) -
%x&,“ -\(\. (G) my, = (m tm ﬁ\i)\/
3y {(mm,%j\}' o© B 0.1x100 - (gqj))\ 7))V
+—g}\ng by N \(\Q)Tm;'
(m Si)(@lé o (LY
6 sxs> o R u-r veut Jas.
Ce3.791 e T T TR S (e L))
H mmw%aw' 10085331791, =silis S - 0.29 4
‘fﬂl’%’@’/ b BELES 2 weé
17 Iy -
QWetn AR AN S EAN TN | 5 At | \\&QQL_
 ANARE N ANREERAENE B - NN\ ,f
7% FHTR .z/k//\ . N ——
: \Ajﬁ\ P \\.}(\.
)W mu, = Ut tm )V Q\ggj" M\Oo(-“b
_0.05X100 = (0.0541 tog) V' "© \(\%v _
| vV 2.7ms A ‘\\(@\(“&
() 1m 65 ——(m +m,+m,)Q,RX M,)ﬂh +E, ”
‘——xO()S X!oo. —(oos+Has);7+ (oos-n)xq ¥
X046 +_E!oss




D) F 1454 ® @ v:-lqr
= (4.3X0.5
(). OFEHER : PrA AR A 3, @ QA N = 22bms T g
Ty Y
A PRRAAREN QAL () TAC A - AV
pz U B f’z&ﬁﬁg&%“ -;—xz,211+‘1,%x| =5 v
23R HEA N V 2 4 4Sms 4
B
BERORP:N ﬁ#gu A1) () mu = (mtm,)V
A RsE | dms” —’;— =2 " 0.1 u = (0110:3) Xh4S
7 [Qsk | omZ NS = ime™ 5T, w29 a
A %’ L k “>l; / X2 -
LI e wﬁa%ﬁmﬁ%éfa 3
- 5 Mpu” 900, YA R z"‘“’_(’“”‘”
S RIX3T A A R W - X0, 1x24.7° —n—f@\n\()-'ijqu"
= us3 o« W oo, L = 36,757 g0 ©
RO -3+iad I
s aeéc%f“ e 0) 714 7143
- 0_69’5?’ f TMme% T ey -mu
= —;x(x(—nl‘t lKle;'_ Q['%\j’ﬂ / =1, 2X(z9) — | 2 X}
= b3 a4 A5 ¢ A= ﬁé&)%;m" #
"93/ AN D;Qé(“e’
zmmfc%ﬁé ] 3w TS J) 5
“mu O by
= | X3 j('(/)%/\ -?SN }\\
o 3 quns" ' 3[3»‘?)\ (\%Qv
. EAETAL W oMU, = my 4my,
CXXIY R L 2 O gk = 1ax(0 f 36V
=MV, 4 MgV, oY Var 1Pms” 4
et s | e
= 3 L«qum J ) ) ma.  =(mAm)v

bu = (h t20)1

ub Z KV'\S'|' #



Lmul = LtV 4 mgu'L. (b)) —Av = LAV */ik
—XUx6> - = (4 +20) "t Lx o X0.6xL A VI L}V: 4+ 10X (04)
72 = 124 2kL. qQ'\$ VsV, 4% g
L = 25m & Y 7
¢ )\ ()izAR Nt
19 () % ¥ mVs M -0
%xzdws%jz: XX O + XXV, (-20x0.SHETx1) =0
AR Lﬂ = 30ms "X ) ] = lON. %
i St . 2
;mféx (b) 4% % Bl 4‘?‘* 4 T- 280 ng
) A 7 ﬁﬁ%, ‘\];' i~ (;?) " Gl omuo
\ : 20 sin 60 V= UW\‘ ' ‘,'\%\(\& * 2 élféw\s"aﬁ.
V-0 % 20560 - B o
a- -45 _ ON\L< 17488 s 78, )
£ 7,,‘>(¢)ff)" ‘no(\% Ve 3R A
Ak E B o Q2
5=U@ ((mq/ JM = WV MY
A0 cos 60 X176 L ol V = 00x(-0.6Y,) 04X 3
(309\;‘ = 17.6%m. ~ %‘cl/ 0.1V - -0.06V, + |.5k€
| e e » A67Sus p
i i SRy S P Y
B KEAB T BRZACRCE L LAY S
Sz 6&7\/‘ ,&. Iﬂl“ ’}(o'gx‘b ¢®
%0 x 1,767 AN g S
= 53.0(m. , 4/((,\ ?s\\
LK EEH = S30Im 1 11670 A NG = vt 2as
- 065 x GV (ORI 07ed t2C)0)
R j ack V=0 Ug = ) B
@ W iEAsKNELE ek g <
M Ge
~10%0.5 + cxokt - WY =0 () MUs = MV 1MV
¢ = BN 4 Uy < X2+ 2(2)
Ug = 3M5—’ A




(d)
A
0.45mT




